Anneau sur une tige éﬂk @, (}%,u O <9Q N
T e et o e
doe R ok
e \'ﬂf)’ oy

—\
F)ZO = ZMZS '\T\;(f’\lﬂ/

bﬁ’ \ A * > —x o0 A
N A SO WA v (SN SR (IR
b\ @\} O A_i&c&u;* A & ;L@:M@Za ;w\wL X;

»=0
~A

« s _A
(TP A &)%:l\i’; = fZ\p»OOX'Y

?@amw <
Tm om0kt (129)
¢\ =< A 50 =
=% o M doaw B ma,(uj/(:Ptp\,c%o,,cE*c
.ol — o A
KT = ooy T T o XT - 2ea)
= N o K K=o PURS
o i i F el B

Qv»%’, C):K&,l"”\@;( N (L%: 2}*“3}( Wof
Byt ey


tex
Arrow

tex
Arrow

tex
Arrow

tex
Arrow

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil


\QM:» )((P\ Ao b OF GE Ao bue
Cs (t,pj Aed = QJ/ A-f - Q/ %((() 9 ({/&Jf{{@,
. i ~ \d)( ==Y =
Xk\”'ﬁg = P‘w/bw: 0

L\) 1 omega,l= 3/5' 20
2 t= nplnp 00(2\ 2 e

3 X_ 2 *
4 plt.plot(t,x) 204 . I I !
5 plt.grid()

54 | | | |
6 plt.xlabel(’ s\
7pltylabel()(m§) )(,./ _’:Lﬂ""';--'a-—f-f....___’_’_’,‘
8 plt.show() )(\,»\F /Q;: 05 - . ! | |

2

= i

ﬂ U T T I T T T T
@ 'I] 1 o 2 03 04 05 0.6 o7 0.8
) 043 A

At wm&w 0 oo A
T (e o)
X@%\ I\ %‘E O45»
Do Gy o W 8 o Ol x 2250032475 wd


tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil

tex
Pencil




